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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, what are the two largest risks to a highly available solution? (Choose two.) 

A. Only two adapters per controller 

B. Only two adapters on the server 

C. Only one server 

D. Only one switch 

Correct Answer: CD 

 

QUESTION 2

What should be considered when implementing remote replication of storage? 

A. The IOPS requirements at the primary site 

S10-210 PDF Dumps | S10-210 VCE Dumps | S10-210 Study Guide                                2 / 4

https://www.passapply.com/s10-210.html
https://www.passapply.com/s10-210.html
https://www.passapply.com/s10-210.html


https://www.passapply.com/s10-210.html
2024 Latest passapply S10-210 PDF and VCE dumps Download

B. The geographical location of the primary site 

C. The availability of communication links 

D. The availability of server hardware at the secondary site 

Correct Answer: C 

 

QUESTION 3

Click the Exhibit button. 

Referring to the exhibit, which backup type is represented? 

A. Server-free backup 

B. Cloud backup 

C. LAN-free backup 

D. LAN backup 

Correct Answer: D 

 

QUESTION 4

You receive a ticket from a database group which is complaining about slow access to storage on only one particular
server, as compared to other servers in an active-active cluster. You verify zoning and LUN masking which are fine. On
the FC switch, you verify link speed, errors, and throughput for the FC switch ports used by this server. There are no
errors on the ports and the link speed is the same as on the switch ports used by other servers in the cluster. You notice
that on one port on the FC switch used by this server, that there is no throughput at all. What is causing the problem? 

A. The switch has obsolete firmware. 

B. There are too many ports used on the FC switch. 

C. Multipathing was not configured for load-balancing. 
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D. The switch is over-subscribed. 

Correct Answer: C 

 

QUESTION 5

A server with a dual-ported HBA loses access to storage during switch SFP replacement. You want to prevent this from
happening in the future. 

Which action should you perform? 

A. Use zoning 

B. Enable trunking. 

C. Use LUN masking 

D. Configure multipathing 

Correct Answer: D 
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